


General Permit Qualifying Criteria Calculations
Stationary Spark Ignition Internal Combustion Engine

Calculation of NOx and CO emissions

[bookmark: _GoBack]In order to demonstrate compliance with the Qualifying Criteria, NOx and CO annual emissions must be calculated using the applicable horsepower limit to which each engine is certified.

The NOx and CO annual emission limits shall be calculated as follows: 

E = g/hp-hr x 0.0022 lb/g x hp of the engine x 8,760 hrs/yr x 1 ton/2,000 lbs

Where:
g/hp-hr = 1.0 for NOx or 3.0 for CO
hp = the horsepower of the engine provided by the manufacturer


In the case of a 1,040 bhp SI ICE
NOx emissions are

E = 1.0 g/hp – hr x 0.0022 lb/g x 1,040 hp x 8,760 hr/yr x 1 ton/2,000 lbs
E = 10.02 tons NOx per year

CO emissions are:

E = 3.0 g/hp – hr x 0.0022 lb/g x 1,040 hp x 8,760 hr/yr x 1 ton/2,000 lbs
E = 30.06 tons CO per year


 




